|T Iéxample. 1:
- Find the volume of a solid between y = x> —x + 1 and y = x + 1 whose
perpendicular to the x-axis are squares. Yoo
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: Example 2:

: . o, _ .
Find the_volume of a soll_d between_gf =x°—x+1and y = x + 1 whose cross sections
+ perpendicular to the x-axis are semicircles. o\t
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: Example 3:

. Find the volume of a solid between y = x> — x + 1 and y = x + 1 whose cross sections
perpendicular to the x-axis are rectangles whose height is(fﬁr@its width.
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- Example 4:

Find the volume of a solid between y = x> — x + 1 and y = x + 1 whose cross sections
perpendicular to the x-axis are equilateral triangles.
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